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Sec . 12.3 :

1) 4.11-3.21-5-1=15
0=125013)c0s0=¥rf Angle is obtuse

21)coso=¥p= #
29) a) bt3b -12=0 6=-12
b) 462-28=0 b=0

orb. (46-2)=0 b=I
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1) 1-3-4.2=-5

5) I - I - 3) - 2-41-1-3=-8
B) i - j

21) ( U -a)xlu.tw/==llXUt2lux4-2lvxu)-4fvxv )



=D -124 , 1,07+247,40> to
= 4414,07
25) -U (according to right- hand

G) ( 0,3 ,
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39) Kla . lvxwltkl, 74405271
V=4
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411 A = I uxv I = K -3,5 , I > I = BE

43)
:

2Y
A= Ffg =92345) V, = ( 2, 27

VE C - 3 , o ,
A= thx,

2

A= ¥ = 3

Sec . 12 . 5

1) 7 (X- 4) t 3 ( Y H ) t 2K- t ko
Xt3y t22 =3



5) 1 ( x-3) = o X =3

9) Xty t 2=0

111 lb) and (d)
13) 59, -4, -117
I 5) 53, -8, 11 7

17) PQ = L - 1 , 2 , -37
PR= L l , 2 , - 67

Pax PR =L-b , - 9, -47

Plane eg : -6 (x- 2) - 9 ( y t t ) - 4 ( z - 4) =o
- bx - 9 y - 42 = - 19

6×+9y t 42=19



191Pa =L - I, 1,13
PRIG, 0,17
PQ x PR= ( 1,2 , -12

Plane eg : Ux - e ) -1219 - o) - Ik - ots
X -12g -2=1

25) (x -1271-(2-5)=0
X-12=3
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53) 3h Xt AY t 2n 2=5n
, a

C- too,od

n E too, o) UCO,of
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5) <3, -5,77 tt s 3, 0,17
= 53 -13T

,
-5
,
7ft >

17) 9L cos Itt ,
sin Itt

,
O )

radius = 9
center = to , o , o)

Plane : 2=0

Sec . 13.2

3) find e't it In HH)jt4k= it 4k

5) This is the same as the derivative
of Htt

. rift =L- t
-2

,
COS HI , O >



7) r' HK 243T '>

i r,GI= 17"

ni:*:
tangent line -_ 51,1 > t 't 27=4+1,2417

zH i rz( 1) = ( 7,13

×

rifts -_ Gta, lots >

rich -13,67
tangent line -_ ( 1,1 > + tC3,67=(341,641731/42)--4-310,76>

RICH =L-245,647 r44=f4 , 5,243
tangent lines -310,16 > tts-4,51247
=L - 4T - 3,5T -110,24T -116>



33) r(2) = 2 -

i - Iz k
Mls) = -452 ; +854 k
r' (2) = - l i t Ik

tangent line = (2 i - I tf t s f- l i t Ik)
f-St2) i t (E - 13) k

4M¥ it E.dk#tiElitfEttIli
= (2-2) it ( f- 6) j = O
49) r ft) = f ft' it 5T's t k) tot

general
= Fit It' ; t t k t C ← ( solution)
rHK 13 it Iz ; t k t C = j t 2K
c = - Iz i - Zz j t k
rat = (tf) it f5 ; t HH k


